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EFRAS R H S
2018 &£ 4 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.042 0.008 &
LA i 1.512 0.000 - 0.590 0.064 =
Z/LE (HCD 4,545 0.000 - 0.259 0.134 TE
mIbE (HF) 0.306 0.001 - 0.121 0.049 =
— &b (SO2) 15.147 0.005 - 8.325 2.305 =
—4& kbR (CO) 7.578 0.011 - 0.130 0.057 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.546 - 15.708 4.297 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.011 0.008 &
LA 0.756 0.021 - 0.102 0.063 =
Z/LE (HCI) 0.756 0.066 - 0.174 0.133 s
wAbE (HF) 0.072 0.037 - 0.052 0.048 =
— &b (SO2) 3.789 1.894 - 2.818 2.318 =
—&Ei% (CO) 3.789 0.031 - 0.094 0.057 g
HAY (NOx)
DL=%AEE (NO2) 15.147 2.669 - 6.608 4.306 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
IR R g ) 7.575 x 107 <5.622 x1010 =
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EFRAS R H S
2018 &£ 4 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.021 0.005 &
LA i 1.512 0.043 - 0.370 0.087 =
/L4, (HCI) 4,545 0.038 - 0.408 0.183 =
mIbE (HF) 0.306 0.003 - 0.101 0.046 =
— &b (SO2) 15.147 0.000 - 3.368 1.683 =
—4&bi% (CO) 7.578 0.001 - 0.077 0.019 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.527 - 9.385 2.879 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.006 0.005 &
LA 0.756 0.062 - 0.112 0.087 =
(L4, (HCD 0.756 0.136 - 0.266 0.182 =
wAbE (HF) 0.072 0.041 - 0.048 0.046 =
&R (SO2) 3.789 1.261 - 1.927 1.683 =
—&Ei% (CO) 3.789 0.011 - 0.034 0.018 g
HAY (NOx)
DL=%AEE (NO2) 15.147 2.221 - 3.754 2.877 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
IR R g ) 7.575 x 10°° <6.268 x10°1° &
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2018 &£ 4 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.016 0.005 &
LA i 1.512 0.035 - 0.928 0.080 =
(L& (HCI) 4,545 0.012 - 0.232 0.125 =
mIbE (HF) 0.306 0.003 - 0.097 0.031 s
— &b (SO2) 15.147 0.105 - 5.433 2.057 =
—4& kbR (CO) 7.578 0.000 - 0.032 0.007 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.730 - 6.247 2.214 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.008 0.005 &
LA 0.756 0.040 - 0.152 0.080 =
Z/LE (HCI) 0.756 0.089 - 0.173 0.125 s
wAbE (HF) 0.072 0.021 - 0.043 0.031 s
— &b (SO2) 3.789 1.770 - 2.256 2.055 =
—&Ei% (CO) 3.789 0.002 - 0.013 0.007 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.225 - 3.351 2.212 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.156 x10°20 &
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